QUIZ


Q1:- Choose the correct answer

(1) Which of the following is homogenous liquid preparation containing dissolved ingredient :

(A) liniment

(B) Ointment

(C) syrup

(D) Solution
(2) Lotion have the following properties except: 
(A) Liquid preparation

(B) Applied to the skin without friction
(C) Used orally

(D) Non of  the above
(3) …………… form soluble complex with  iodine in strong iodine solution:

(A) Gelatin
(B) Glycerin
(C) Potassium iodide

(D) All the above
(4) Dusting powder is : 

(A) Solid preparation

(B) Very fine ; free flowing
(C) Not used for open wound
(D) All of the above
)5) Examples of liquids preparations  are except :
(A) Drops
(B) Elixir
(C) Ointment

(D) Linctuses

(8) Increase of particle size  of solid phase lead to:

(A) Decrease solubility

(B) Increase solubility

(C) Increase pH

(D) Decrease pH
(9) The solubility of alkaloids will increase by :

(A) Increase PH

(B) Decrease PH
(C) Increase pressure

(D) All the above
(10) Which of the following is wrong about Linctuses?

(A) Viscous liquid preparation  

(B) Used orally

(C) Used for cough relief

(D) Semi solid preparation
(11) Pastels  is:

(A) Solid preparation
(B) Called also lozenges
(C) Liquid preparation 

(D) A & B
(12) The dc/dt equal :

(A) KS(Cs-C)

(B) (Cs-C)

(C) KS

(D) Non of the above
(13) Enema are all of them except :
(A) Simple solutions; suspension ; emulsion 
(B) Applied to the ear

(C) Applied into the rectum  

(D) Used for diagnosis
(14) Nasal spray are applied to:

(A) Nasal mucosa

(B) Ear

(C) Eye

(D) Rectum
(15) Which of the following is true about granules?

(A) Liquid preparation

(B) Small irregular solid particles

(C) Applied to the skin

(D) Applied without friction
(16) 1 tablespoonful equal :

(A) 5ml

(B) 15ml

(C) 4ml

(D) All the above

(17) 1inch = ………… cm :

(A) 2.5

(B) 39.37

(C) 3.69

(D) Non of  the above
(18) An example of solutions prepared by chemical reaction  

(A) Strong iodine solution

(B) Magnesium citrate solution

(C) Sodium chloride solution

(D) Belladonna extract USP
(19) ……….. is applied to skin with brush :

(A) Suppository 
(B) Lotion 
(C) Paints 

(D) Nasal spray
(20) Organic drugs can easily dissolve in:

(A) Polar solvents

(B) Alcohols 
(C) Organic  solvents

(D) B &C

(21) Which of the following statement is true?

(A) Pharmacist diagnose diseases 
(B) Pharmacist write the prescription
(C) Pharmacist dispense ; preparing medicine

(D) Non of the above

(22) Which of the following statement is wrong about atropine?

(A) Dissolve in diluted solution of acids

(B) Dissolve in dilute solution of alkali

(C)  Dissolve in Low PH

(D) A + C
(23) Negative  heat of solution :

(A) Rise in temperature increase in solubility

(B) Rise in temperature decrease solubility

(C) Decrease in temperature increase solubility 

(D) None of the above

(24) ……..order filled the first time 

(A) New prescription
(B) Compounded prescription
(C) Refill prescription 

(D) Non of the above

(25) Which of the following routes give local effect? 

(A) Rectal

(B) Inhalation

(C) Topical 

(D) Parenteral

(26) Which of the following statement is true? 
   (A) Tablet is taken by rectal rout 
   (B) Capsule shell made from gelatin                                              

    (C) Syrup solid preparation                

    (D) Granule very fine powder
(27) The art of preparing ; dispensing medicine is called:
	(A)
	pharmaceutics

	(B)
	pharmacology 

	(C)
	Pharmacy

	(D)
	Non of the above


(28)Which of the following is wrong about patient used buccal route? 

	(A)    
	Vomiting patient

	(B)
	Unconscious patient

	(C)
	Drugs cause GIT irritation

	(D)
	Non of the above 


(29) Which of the following is true about inhalation rout?

	(A)
	Give rapid effect

	(B)
	Suitable for drugs dispersed in aerosol form

	(C)
	Applied to the skin

	(D)
	A+B


(30) Transdermal route applied to…..  :

	(A)
	Mouth 

	(B)
	Vein

	(C)
	Buccal 

	(D)
	Skin


(31) …………… are examples of routes give systemic effect:

	(A)
	Adsorbent drugs

	(B)
	Antacid

	(C)
	Direct application to mucous membrane

	(D)
	Parenteral route


(32) BP means:
	(A)
	Of each

	(B)
	Complete to

	(C)
	To be made 

	(D)
	British pharmacopeia 


(33) The number of mg of substance in 100 ml of solution is:
	(A)
	Weight in weight percent

	(B)
	Volume in volume percent

	(C)
	Weight in volume percent

	(D)
	Milligram percent 


(34) The advantage of Oral route is except:
	(A)
	Most common used method

	(B)
	Suitable for drugs rapidly inactivated in GIT

	(C)
	Self administered 

	(D)
	Effective for most drugs

 


(35)Tablets are prepared by:

	(A)
	Agitation without heat

	(B)
	Heat

	(C)
	Compression

	(D)
	A+B 


